BYJU'S

The Learning App

MP BOARD CLASS 11 MATHS SAMPLE PAPER-SET 3

ureel 9e-Hi1—a+
Model Question Paper

Sed  ITd
HIGHER MATHEMATICS
(Hindi and English Versions)

Time— 3 © Maximum Marks—100
e
(1) 71 ued 8 &xAT A 8| U@ U & A1y AaRke fdeer Ry
MY E |

(2) W1 A B.C.D E a&fis usd & uhd &1 1 b [uiRa 2|
(3) UBH—2 W UIH 8 Tb & Ul & Udd UIT b 4 b FWRT T |
(4) U39—9 W UYT 15 ddb & U H U™ADb U b 5 3 AuiRd o |
(3) - 16 @ 17 & =IRkd 3F 6 B

Instructions
(1) All question are compulsory internal choices are given in every question.
(2) Question-1 A, B, C. D, E are objective type and 1 marks alloted to each

question.

(3) Question-2 to 8 carries 4 marks each.
(4) Question-9 to 15 carries 5 marks each.
(5) Question-16 and 17 carries 6 marks each.

q¥dfTss U1 (Objective Type Questions)
uFi—1 (A) Fr=faRaa geal & wrer fQv ¢ fdsedl 3 4 ¥el fadeu gaaY

AUl SoR—yRa®mr 9 ferRae— 5
(i) tan! % + tan~! %: ................ BT—
(@) tan ®) %
© 7 @ <
(i) = dfeer o1 fBys & o fa=el 9 fae aftgecl ¥ RuiRa 8 @
ART B
@ o (b) 1
© -5 @ -1

(iii) af2 a &1 sty G Rrdgdr #vied a & T&r m &I Ub I Al

@

https://byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

[BYJU's

The Learning App

Tl 99 ma Udhie AfasT s8N

(a) m=+1 ®) m=
1
() m= [l @ o
(iv) & ax g1 @ arel MATHR TR & 5o 4 39 2| 39 maad
gRad= &1 & &N |
(a) 64m 7 W /TP (b) 32n T /HBS
(c) 48w HHI/HF< () 72m w1 /HEH=
(v) Sfeslt 2i+3j+k 3R 2i—j—-k & I DT o
T
(a) 0 ®
& 2 @ 3
Q.-1 (A) Choose the correct choice from the follwoing multiple choice
question 5

i 1 1
@@ tan™ 5 +tan! —= ... -

(a) tan! < ®) %
T T
(c) 2 (d) v

(11) The sum of three vectors from the vertices of triangle toward
median are

(@) o (b) 1
&)~ @ 1

3

(1) If a 1s a non-zero vector whose resultant 1s a. m 1s an another
non-zero vector. ma 1s a unit vector

(a) m=+1 (b) m= ‘a‘
1
(c) m= E (d) O
(iv) A ballon has a variable radius of 4 cm. The rate of changing in
volume 1s—
(a) 641 cm’/sec. (b) 321 cm?/sec.
(c) 48T cm?/sec. (¢) 72m cm?/sec.
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(v) The angle between the vector 2i+3j+k and 2i—j—k Is—

m
(a 0 o
n n
© d) 5
uF—1 (B) R =l & gid fife— 5
: 1 A B _
(1) = x(x+l)_x+x+1 8 W Beren |
(1) ah =eosees SEfe 0, ad b &A@ B OB T
2 3
(iii) af y=l+X+E+%+ ___________ oo T %z .........
(iv)J' al—x?dx Bl HF 2|
(V) Jsecxdx Tl T e g
Q.-1 (B) Fill in the blanks 5
: e B _
() ST then B =
(1) 2.5 oo when 6, is angle between the vector a and b.
m) fy=1+ +£+£+ th L g
() Ify = X BT TE T s oo then = .o

(1v) _[\}az —x? dx

(V) _[secxdx ....................
uF—1 (C) 98 /38 fafgy— 5
(1) fcot x dx = log sin x
(11) THTHA, SMadAT Bl Ufqard dfhar €|
(iil) sin X @ X & WATHRI AT cos X Bl 2|
(iv) He—ided qUNd &1 A1 Fad geIcId BT © |
(v) o by, =12 T b, =14 T &)
Q.-1 (C) True / False 5

(1) fcot x dx = log sin x

(11) Intigration 1s inverse process of differentiation

(111) the mtegration of sin x, with respect to X 1s cos X.

(4)
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(1v) The value of correlotion coefficient always positive

(v) If byX = 1.2 then bky =14

g1 (D) @ "A" 9 w9 "B" &1 S8l fam sifve — 5
nAn g
(1) itan‘1 X @ /s2
dx
(i) fogsll (2,4, 5) 9@ (2,5, 4) = 9= (b) I+1x2
PBI g BT
(1ii) fogslt (4, 3, 5) @1 XZ @Had d g 8Rfl () 10
(v) a5 (1, 2, 3) &1 y—3eT | F=ad g3l Bl (d) 13
(V) & wErEvs &1 HewmEl R omem (3, 4, 12) (e) 3
9 Y™l @ s sl
Q.-1 (D) Match the column— 5
1|AH "B"
.
1) g AT x (@ 32
(1) The distance between the points (2, 4, 5) and (b) 1+1x2
(2. 3, -4)
(111) The distance of points (4, 3, 5) from (c) 10
the XZ plane
(1v) Parpendicular distance of points (1, 2, 3) (d) 13
y—axis
(v) The projection of line segment of (3, 4, 12) (e) 3
then length of line.
ye—1 (E) ' g 9 Sax ferlRae— 5

(1) faear Refa fafy &1 gwgfr gz fafag
(1) =ge= YA fafy &1 g3 fafRag )

(1ii) ¥ TS FE w93 faRag |

(1v) R & 99 &1 g3 ety |

(v) 0.5125 E 03 x 0.4021 E — 02 &1 TOT-IHl FT BRI
Q-1. (E) Write the answer of following questions in one sentance—~ 5

(1) If teration formula for fase position method.

(11) Write the formula for Newton Raphson method.

&)
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(111) Write the formula 1s Trapezoidal rule.
(1v) Write the formula 1s simpnson's rule
(vi) Find the value of—

0.5125 E 03 x 0.42021 E — 02

2xX+5 : e
usI—2 ®—D)@®—2) & offstes =l o favrs Sifsg |
04T
X+3

(x+2) (x% —9) H1 A A= H Ay Fiog |
2x+5
x-D(x-2)

or

Divide into partial fraction -

X +3
Divide into partial fraction- (x+2)(x2-9)

3. g @ifog -

tan ! 1 +tan!2 +tan!3=m

IRl
1 sy D 1
Ns dieiw fh— cos— o + sin —= 608
Z = |
Prove that - tan'! + tan1 2 + tan! 3 =
or
1 4 | S _ =1
Prove that— cos " + sin T cos
ue—4. VH fUEid ¥ sin 2X @1 3ddbeld S ey |
T STdT
e y = ¥’ B a1 s wiw &
dy_ ¥
dx 1-y
Differentiate by first principle of sin 2x
or
2 dy:iy
Iy =é then prove that— o
g5, T y:\/logx+.\/10gx+w{10gx+ ........ co
dy 1
B8 a g o & & ZCy—D
(©)
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SIREI
SI X d
IdC y= ——— B A e
1+cosx dx
dy 1
If y:\/Iongr\/logXJr Jogx + ... oo then prove that &_ x(2y—1)
or
sinx . dy
If y = ———— then prove that value of —.
: 1+ cosx dx
s
UET—6. Uh BT FHHYT S =5 €' cos t B IFAR T e ¥ AT t=
B T SUBT T g @ROT TG I | @)

3127

Uh UERR $HUX HI IR Hhl ATdT 8| SHH A b1 FHAE S = 490
t— 4.9t | TR BRI UTT Ifdbad Sars od #IfoTY| WEf ta S HEen
dbs g X H T

Equation of a moving partical S = 5 e ' cos t. If t = — then find its

o |2

velocity and accelaration.
or
A stone 1s thrown upward and the equation of 1ts velocity 1s S = 490
t—4.9 t* where, t and S are in second and meter respectively. Calculate
the maximum height adopted by stone.
Ue—7. WE—ad IUNh T DIfeig—
cov (x, y) =—2.25, var (x) = 6.25 , var (y) = 20.25 (4
3erdT
] TR URKI X 9 y & He Heg-Had N 1 B A1 g iy e

) ¥
iy 8, —~0

_X_y

1’:

206,05
e 2 2 2 : % 2
GEEffGX',Gy,G‘iy,EHH‘éT.X,yHEH(x—y)%ﬁwwé|

Find the cofrelation coefficient, if given that—
cov X, y) =—225 , var (x)= 6.25 , var (y) = 2025
or
If r 1s the correlation coefficient between x and y then show that—

2 2 2
B0y =0y

r—

204 Oy
where (sz s Uyz and sz_v are the variants of X, y and (x — y) respec-
tively. i

)
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UT—8. A W@kl 2X -9y +6=0 W@ x -2y +1=0 & oIy Ae—Had
DI TUET HITTY
arerar

rIfcha ARYT BT IR H 100 BUY & & I H1aTd H Halits I
I ilpel g S difoi |

IMEX TR AT
SRR ot 70 75
HH® e 25 3.0

AE TR W aR] P g H As—<ay NH 08 T |
Given the regression lines as 2x — 9y + 6 =0and x -2y + 1 =10
respectively calculate the correlation coefficient

or
An article cost Rs. 100 at Gwalior and the corresponding most appro-
priate value at Bhopal using the following data

City Gwalior Bhopal
Mean value 70 75
Standard dewviation 25 3.0

The correlation between the value of the two cities i1s 0.8

UTA—9. I FHIA! & FHIDBRUT ST DI Sl FAdel X — 2y + 2z =3 & FHR

g e e fag (1, 2, 3) & @fgs 1 1 2 (5)
3rrar

g @iy & 31 ¥R |Faell 2x — 2y +z+ 3 =0 3R 4x — 4y +

2z+5=0zf‘>aﬁaa%‘c@é%‘l

Q.— 9. Find the equation of the plane which are parallel to the plane x —
2y + 2z = 3 and whose perpendicular distance from the poimnt (1, 2. 3) 1s
L. (5)
or
Show that the distance between two parallel plane 2x — 2y +z + 3 =

5.
Oand 4x — 4y +2z+5=01s e

W10, R a=2i—j+k IR b=31-4j-4k BT IRT TS IR D

a0 BT DI ST DI ()
AT
|fedl 3i+4j+5k . 4i-3j-5k IR 7i+] T T By B aREw w@w@
PIFSTY |

Q.-10- Find the scaler product of vector a=2i—j+k and b=3i—4j—4k

®)
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and also find the angle between them
or

Find the perimeter of a triangle made by vectors 3i + 4j + 5k , 41 — 3] 5k

and 73 + j respectively.

Te—11. Tr=ifeea wera & oy & faa=n @y | (s)
f X 4+1 1
k= e s = a3
) >, gt S |
3T1ET
. Bx—D4ax—2)
lim EE1 21 S 11 M 3 i |

x—ee (X+8)(x—1)
Clarify the ceontinuity of followeing function
x+1
x?+1

or

(Gx —1)(Ax —2)
x—== (X +8)(x—D

YTH—12. WG y = X Qg uvaery y2 = 16x § R &3 @ gawd siid ey |

(5)

at x = 1

f{x) =

Find the wvalue of—

1eTer
UEEE Ve = 4x ud x” = 4y | B @ @1 SEwd sl B |
Q.12— Tind the arca included between the parabola v* = 1 6x and the line

% (.
or
Find the area included between the parabola y° — 4x and x° — 4y
dx
e T—13. Jm BT AT STd a1 |
aTeTar
J-rr_w sin X dx _n . :
0 Jsinx + . fcosx 4 R l
] . . dx
Find the integral coefficient of Im
or
n/2 Mda; ik
Ese TG JO Jsin x +4feos x ]
uys-i—14. f&s @< & wmaa (s)

(&)
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3

Y
y = x> + ax? + bn + c IahaT FHH 2 — 6 T T B

X

Sl

d
STIHAT HHIBRT (TY +y = eX P g1 BT |
x

Q.14— Show that the function y = x> + ax? + bx + ¢ is a solution of
differential equation

d’y
dx’

= 8.
or

y : ) d
Solve the differential equation gy o= gX

Ug—15. & U o9 ay¥ &1 Ages Fud fHar a1 8 a1 s9H 53 AR g9
&I AI¥edr sird B |

afrar
52 U<l 1 HEl §s AN B TS! H W 2 UKl Mol O] 8, §9@ oTel AT
@I B & Arfhdr S BINT |

Q.15— Find the probability that a leap year, selected at random will contain
53 sundays

or

Two cards are drawn at random from a pack 52 cards. What 1s the
probality that either both are red or both are acess.

x—2 y—4 -5

X—k =B ZE—3 -
R - IR —3 7 5 @ A=W

U T—16. IR G137
SATH I BT DI |
3rerdr

JH el BT FHERO S Hirorg o gt (1, -3, 4) . (1, -5, 2) 3R
(1, =3, 0) & 8B ST § 99T iadr s |@9dd X +y +z =0 W Rerq

=4

. 2 5 : : ; x—1
Q.16— Find the minimum distance between straight lines IR =

X—z y—4 z-5
3 + 5

and

or

Find the equation of the sphere which passes threw the points (1, —
3.4) , (1,-5, 2) and (1. —3. 0) and whose centre lines on the plane
% e O

(10)
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ugi-17. g a0 —
[éi+6 B+56+5]=2[556]
Jrerar
15 31§ & Th ad j-2j+2k @ fRen # &l @xar g den fag
2i—2j+2k @ ol ¥| ¥E a0 @ fvg (i++k) & ofa wfew smepf

A DI |
Q.17— Prove that

[é+5 b+e E+5]:2[566]
or
A force of 15 unit acts along the (j—2j+2k) and passes through the

points (21—2j+2k). Find the vector moment of it about the points

(i+3+Kk)
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